QUIZ #2
CSE 326, Autumn 2003
10/13/2003

1. Name one operation that leftist heaps do not support in sub-linear time.
[ sub-linear mean less than ((n) ]




2. Draw a height 3 tree (i.e. a tree with 4 node levels) that is complete but not perfect.









3. Show the 4 node binary search tree formed by inserting 4, 3, 2, 1 in this order.









4. True/false:   The Binomial Queue data structure efficiently implements the 
                    Priority Queue ADT.




5. True/false:  The course policy states that you can submit written assignment a day late
                   for half credit.
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